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Child Psychology & Development,
Pedagogy Teaching Learning Process

L et FREE & R W e s gt § 2
(A) TR 7= T o B ¥ (B) geir qea AR B E
(@ T = fafldre 8 & - @)aggaﬁ}qaﬁlﬁ’eﬁﬁ%
On the basis of child psychology which statement is appropriate Z
(A) Everv child is same (B) Everyv child is SPECial
(C)  Some children are special (D) Some children are same
2.

ST g el @) wuREl 2005 (NCF 2005) %mﬁnﬁaﬁmmﬂ@m a
(A) STl B JHIOG BT ST o

(B) a=al H Wforg @& ufd wfa Uar &xAT -

\(C d=at § difbe RidT aun TRAT GEEE Araar df [dard

~D) d=d BT FAHD BRI HIAT

What is the main objective of teaching Math, according to NCF 2005 ?

(A) To give knowledge of arithmetics to the children

(B) To develop interest towards math

(C) To develop logical and problem solving ability in the children

TQD) Emotional development of child

&%)

79 U geat fA=forfRad geR uelRia &xar & o Riefe 991d 339 9= & 989 HY

THl & —

(A) JMHHB TIER (B) WA H Ffear

(C) Srafd are (D) affshareiierr

A teacher can identify a stressed child when the child shows the following behaviour-
(A) Aggressive behaviour £B) Mistakes in learning

{Q(:n Excessive talking (D) Hyperactivity

4. uﬁ&nﬁﬁwﬁmﬁrﬁmﬂﬁﬁmﬁlu%ﬁwﬁtﬁﬁﬁaﬁﬁ%ﬁqu}
W B W HRAl B 7

B (A HEH—EA (B) o Ta—faes
O Frafa—faem (D) WSTH-uf e
._ | The stress affects performance in examination. This fact reflects which of fﬂllowin
- relationship ? &
< B\ (A) Cognition-EthiGn (B) Stress-Omission

Performance-Anxietv (D) Cognition-Competition

2]



- 'lﬂl

el s

6.

| B sy w2 7

(A) NS TS (B) wHIfe <

(©) #remH FHfaET (D) Sfere FAIfEEE

A Teacher should make an attempt to understand the potentialities of her/ his
students. Which of the following fields is related to this objective 7

(A)  Educational Sociology (B) Social Philosophy

(©) Media-Psvchology @1 Educational Psychology

"SI S BT UdW gR 2 39 WX §of fodr of

(A) HHGREE A (B) TBAED A
@ FedR F A= — (BF &
“Senses are the gateways of knowledge” was emphasised by
(A) Confucius (B) Gurunanak
(C©) Mahaveera (D) Rousseau

ol B ATAR IEBET T 8 7

(A) dIATERY SF BT B

(B) dTeid fiwa @1 B ¥ R B A SHD -1 P B
(C) A<l THb AT

(D) 79 | Plg el

According to Piaget, Egocentric is

(A) Environment is centre of knowledge

(B) Child is the centre of world and everyvthing revolves around him
(C) Sensory Motor stage

(D) None of these .

Ren afeR ARfFE & JFIR deal Bl o) falre $an # waw & awR 2 2
(A) dreTd P A (B) B B IH

(© @ @1 wHIfd G WX (D) - o fRen

According to the Right to Education Act, admission of children to a particular class

has been proposed to be on the basis of

(4 ability of the child (B) age of the child
(C) socio economic status of child (D) education of the parents

1602-B [3] [P.T.O.
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= § 9 s ey a9y sraegear o aree! & g § warar wedr 2 7
(A) DY TSl HTS

By TERUSIE HUS

©) IS 7US

(D) TaERHA< HIS

Which one of the following methods helps to study children with special needs ?

(A) Case Study Method
(B) Introspection Method

(C) Interview Method
(D) Experimental Method

10. e o1 @ 5 g aRvad &1 3ef & — AR @R & gEr B Fel BT
qAT I I @ |
(A) SR (B) BSPlce
© T D) T 4 FE &
Who said that - ‘Mental hygiene means investigation of the laws of mental health

and taking of measures for its preservation”
(A) Drever (B) Headfield

(C) Kuppuswamy (PJ~ None of these

11. ¥ G477 3G~ Fd & folv WHIAS Iegd & —

(A (B) ISP IG B Il ILUF
(C) IFDPR I I (D) ol ¥ AR g8 avg

Out of the following which stimulate fear emotions ?

(A) Pain AB)” Sudden Natural Stimulus

(C) Dark Place (D) Sudden fall of things

12. W—mﬁﬁmﬁﬁmwmmwm%—

A |
: C)) faemerg By wr-Rar vd oRar
Which i * S
1s the basic foundation of Socia] Development of Boys and Girls ?
(A) School (B) Parents |

(€ Community
1602-B 4]

(D) Mode of public communication



e U= Sue g fear o ?

a) TRewH (B) &=

O JIHeR® D) wiEs

The term "Homeostasis’ was coined by

A) Enckson (B) Cannon

Q) Thorndike @7 Freud
SRR NI R R S S 2 B0 0C LI || — SR @1 U SERET |
N TE-TESd S (B) SIROTHD /WA AT
O TR Jge= (D) HHaE JHETH

_earning of mathematical tables bv children is an example of

A) Paired-Associate Learning (B) Concept Learning

C) Classical Conditioning By Serial Learning

ZIGENdIc DI WD foa @er war 8 ?

A) W SL dicad (B) 3. IR T:T?T
i oS 24 D) FE afE
Who is known as ‘father of behaviourism’ ?

(A) ].B.Watson (B) E.R. Guthrie
(O Donald Hebb (D) Kurt Lewin

THRIE® e B goH A ¥ XA 9

(A) e 39 Zaer @ gfed 89 A & B ©
B 4 9w =aEr & ofed F A gfg B @
(O =EeR F i 9<dld el Bl

D) =75 9 315 T8 ;

The removal or withdrawal of a negative reinforcer
(A) decreases the occurrence of particular behaviour
(B) increases the occurrence of particular behaviour
(O brings no change in behaviour

(D) None of these

7. Se DR 0D .o 2
(A) m EHARED (B) Ucmet a1 e SEium
O woaEs/qEs LD (D) dh e
j The picture of a horse is
f | (A) Anm stimulus (B) Concrete stimulus
_ C—Signal stimulus (D) Symbolic stimulus
1602-B i Bl

[P.T.O.



18. U SIS, B & TS 1 Gl ST @ A8 [HeT He R a) g9 aaT PEd

e

'E',’.
(A) TAREd savre e B) A= rqura Ry
(€ T A ST D) ¥ ¥ B T8

If a teacher provides reinforcement after every two correct responses of a child, then
it is called as

—&T" Fixed Interval Schedule (B) Fixed Ratio Schedule
(C)  Variable Ratio Schedule (D) None of these
(A) ETARN § AR (B) HIG AT IR—IEAA AT
(C) &1 & IR ARNH (D) TroiFTEE AfeTH
Incidental learning means
(%)" Learning through incidents (B) Unintentional Learning
(C) Learning outside the classroom (D) Planned Learning
20. “H9 97 9999 & o Rrenr § RAaw 21”20 A FRAT o, B STET B
(A) <UPrelE [ (B) ufsbarH® wfa
© e (D) 3i-favgs W
“I spent my childhood days in Shimla”; remembering this is
(X7 Long Term Memory (B) Procedural Memory
(C) Episodic Memory (D) Semantic Memory

21. giE—cT&T Bl TUHET HRA BT T IGT & ?

pog e ST
Ay TG A IRAAD ATY

e Y (B) e I x 100
() ”31’ Uﬂfﬂ"’f@ X IRAIH Y D) FTH q B &

The formula for calculating ‘Intelligence Quotient’ (IQ) is

L~ MA CA
| — X 100 e
“'/c —X10 (B) X 100
. MA
(C) 300 XCA (D) None of these

(Where, MA = Mental Age, CA = Chronological Age)

[6]



A & (B) ar 7
(C) i (D)

Projective techniques are used to aSSess ........-trwemeesemssieses

(A) Intelligence (B) Attitude

(C) Personality ) Aptitude

23 gwmﬁwmzﬁmﬁmﬁﬁ@awm—wwmﬁmww
2
7 T S TR ¥ e & & O o B 8, T T ST Y € |
(A) PeE—hel § Iy, R0
(B) dac ITch e BRI A (I, TR
(€ rplis Su W Freeha; e
@y i S
Which one of the following pair would be most appropriate choice to complete the
following sentence ?

Children............ faster when they are involved in the activities that seem to be ...............
(A) Forget; useful in a classroom

(B) Recall; linked with their class work only

(C) Memorize; culturally neutral

(D) Learn; useful in real life

4 feerEiaar TREAA B

(A) ¥HRS [ABR | B) TR PR 4

(€ UeH fdoR ¥ (D) IERS [dbR A
‘Dyslexia’ is associated with

(A) Mental disorder (B) Mathematical disorder
€ Reading disorder (D) Behavioural disorder

25. HIFN W Y TR A WG] A1 TG deell ©, D faRmerd # suren el &
yefifd awar & ?
(A) Rremerg g=di @1 YT JawR U dxal & a1 e 9| o
(B) gt @ =i B & fF o ey W s arq
© a9 fFE @ WR W JUA BR Bl THE Tel dl ®
D) <Ha fant @ faem # =g fear S @
Kritika who does not talk much at home, talks a lot at school; it shows that
(K)// the school provides opportunities to children to talk a lot
(B) teachers demand that children should talk a lot at school
(C) She does not like her home at all

(D) her thoughts get acknowledged at school

- 7] [P.T.O.
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26. "%m“ﬁﬁam.ﬁmwﬁwﬁl”—agm - ——

A T, R (B) w1 TAT P
© R & Beq D) = ¢ ?.ng e by
"Educational psychology is the science of education.
(A) B.F. Skinner (B) Crow and Crow
(©) R.B. Cattell ‘ (D) E-A:Feel
27. T 3 ¥ BN et wifie @ w78 8 2
A) #2 ofm 8] oS, . aea
(©) ITHTT Braer (D) I H41
Who dmong the following does not belong to ‘Gestalt Psychology’ ?
(A) Kurt Lewin (B) LP. Pavlov
(@ Wolfgang Kohler (D) All of these
28. "G (W1EH), §S (399) 7 O Audd 21 a8 BY 2
(A) g (B) 31
(C) MR w5y ¥ | (D) IqBT B2
“The super €go 1is the direct antithesis of Id.” This statement is
(A) True (BY False.
(C) Partially True (D) Absurd in nature

29. w%w@mﬁmﬁmﬁaﬁmmﬁw:ﬁmmmﬁ
2MAer faam Sy & 2
(A) OFPET 81 9 9d 99 g% ~B) 51 ¥ & 94 g%
(O T ¥ 7 IRE 9§ e (D) T IRE F Tz qf qo

“Concrete operational s

-------------------------

— (A) About2to7 vears

(B) from birth to 2 years
(C) About 7 to 11 vears

(D) About 12 to 15 vears
30. Ao g H ffea 21

The term ‘development’ includes
(A) Only structural changes

=) Both structura] and functiong] changes

llllllllllllllllllllllllllllllllllllll
-




General Knowledge

s @ @R A W P @ Sel W § 7

() fAsirend B)

©) sl IR QeI o) e

Edible part of mango is known as

(A) Mesocarp (B)
Mesocarp and Endocarp (D) Paricarp

31.

Endocarp

32. ﬁﬁﬁw%mWW%ﬂﬁﬂmﬁﬁﬁﬁmm?

(a) dfa B) Yeel
(@ weUeHdeH (D) WEH
Who addressed Gandhi ji as ‘one man boundary force’ ?
(A)  Churchill (B) Attlee
(C) Mountbatten (D) Simon

© TER () 1) G

‘Make in India’ programine has adopted one of the following as its logo -
(A) Lion (B) Elephant

(C) Tiger (D) Kangaroo

3 g | A IS B 3 fbd ATRTer @ ORI AT ¢

(A) ISR =T (B) AT IS A<

© e e @) @ e

‘Bhai Do Na Pai’ movement was the extension of which movement ?
Civil disobedience movement

(A) Non-co- _operation movement (B)
Khadi Movement

(C) Swadeshi movement (D)

35. ﬁ?ﬂmﬁ'ﬂﬂﬁmm%?

(A) 11 3T (B) 11 Jeig
(C) 13 I D) 15 e
“World Population Day" is celebrated every year on -
(A) 11 August 8) 11]July
(C) 13 August (D) 15 July
[9] [P.T.O.

1602-B



36,

BTSNt w1 qen vy oo ?

N UG (W ITRYAR

v)

(O IR G (D) wrpfrs e
What was the main subject of ‘Kangra Painting’ ?

(A) War (B) Royal Court
(€)  Shri Krishna and Radha (D) Natural Beauty

AaB D g Vel B o R Ry ?

\ (A) T8¥ ureeR (B) T8 A
§ ©) T8 O D) Sfrs fofmes
Who discovered the vaccine for the prevention of small pox ?
(A)  Louis Pasteur (B) Ronald Ross
(C)  Edward Jenner (D)  David Livingstone
38, WIS T B T @ qm @ wfde s are wdwem Yar @ o 2
(A) UEER o AEw (B) WRER dootd¥TE uee
(©) . ISmaTETET (D) YWY av= 99
Who called Mahatma Gandhi ‘The father of the Nation’ ?
(A) Jawahar Lal Nehru (B)  Sardar Vallabh Bhai Patel
(€) C. Rajgopalachari (D)  Subhash Chandra Bose
39. g€ & SURN @I HINT gy off ?
(A) Hwpd (B) oyl
©@ el (D). TR
Buddha preached in which language ?
(A) Sanskrit (B) Bhojpuri
(C) Pali (D) Magadhi
40. g’ @7 dAHE AW Fqr @ ?
(A) 9 gSrEw (B) SIHRIETEY
(& wTErare D) s fR=h
What is scientific name of ‘Cow’ ?
(A) Bos Indicus (B) Jaffrabadi
(C) Sahiwal (D) Red Sindi



41

ol @ e ey e gumet it 87

(A) ety [deen By e a

) vl v g (D) e wad g
Which one i not a computer output device ?

(B)  Printer

(A)  Floppy Disk
(12 Video Display Unit

(y Central I‘rncvu;iing Unit

o AR AT MR W Y w ?

(A) 2 Wvad 2006 B) 2 JAGAX 2005

() 26 FTEd) 2007 (D) 15 ST 20032"
MOGNREGA Scheme was Launched on

(A) 2nd February 2006 (B) 2nd October 2005

(C) 26 January 2007 (D) 15 August 2008

e fra R @ e e & 7
(A) i @ wy  faaragy @
(C) vl @l (D) HUE @
‘Mohna' folk song is associated with

(A)  Sirmour (B) Bilaspur

(Cy  Chamba (D) Mandi

44, fre e T @1 foreT W dEl S 87

(A) B (B) oTenii

(C) B @y Aot
Which Mughal Emperor is called ‘Zinda Peer” ?

(A) Humayun (B) Jahangir
(C) Akbar (D) Aurangzeb

45, P fva & walfe Ted e ¢ 7

(A) T (B) faaeiRan

(C) aeTal (D) ¥d WR
Which of the following is the deepest lake in the world ?
(A) Titicaca (B) Victoria

(@) Baikal (D)  Dead sea

[ P.T.O.



16. QIR WIRY Wldld a€—2015 fpq fyen ?

(A TETSIR (B)  iffemy aeas

(€) e FR (D) amren Hiear

Who got Dada Sahib Phalke Award - 2015 ?

(A)  Gulzar (B)  Amitabh Bachchan
(©)  Sashi Kapoor (D)  Asha Bhosle

V7] U TR SRS fhde feaey 2019 Rew 9 6 W soar ?

(A) <ieroft s (B) 9Rd g sfeidnT

(C) gieive (D) v sfoey

In which country ODI Cricket World Cup 2019 will be played ?
(A)  South Africa (B) India and Sri Lanka
(€)  England (D)  West Indies

. DU A5G IRT FT o Refdres of I HIf¥d gar ?

@& e (B)  wifear

X TR (D) #eRTS

Which Indian State has been declared the F irst Digital State ?
(A) Kerala (B) Karnataka

(C©) Gujarat (D) Maharashtra

9. eR RAd &1 N B T8 & ?

(A) B T (B) BUR T
(C) I T (D) 3T ==
Which one is not a ruler of Guler state ?
Y% Hari Chand (B) Hamir Chand
(C) Ram Chand (D) Abhey Chand
HIRA H WA &7 sede 21 A wfE & ?
(A) WAFEAT — ~ (B) e
© Rn (D)
Article 21 A of Indian Constitution is related to
(A) Equality (B) Freedom
(C) Education (D)  Religion

[12]



(C) HERTSE ) faer

Which state implemented the Panchayati Raj System First ?
(A) Uttar Prad esh (B) Rajasthan

(C) Maharashtra (D) Bihar

52. Wﬁﬁ?ﬂmmrﬁm:ﬁaammn%7
(A) 71.2% M 70.8%

C) 699% D) 72.1%
What percentage of Earth’s surface is covered with water ?
(A)  71.2% (B) 70.8%
(C) 69.9% D) 72.1%
3 B ST I URAGHT s HNATE frorel IeTes @ &Hal # |
/ 800 1478
' (C):, TRk %, 1000
Koldam Hydro project has the capacity t0 produce ... MW power.
(A) 800 (B) 1478
(C) 145 (D) 1000

54, HAGA wEAE B —
(A) T Bl 9 (B) ey 7ar A
(© e Bl | IO BaT E

Monsoon is related to -

(A) Hot winds '('B/Seasonal winds

(C) Wet winds Tropical winds

55, /tnlaﬁm%WWW@T'WW ael e = 7
ay” fagm TR, T3 et ABy R TR, Reh
€ fiee TR, facet (D) HW
National Institute of Disaster Management is located at
(A) Vikaram Nagar, New Delhi (Bf  Vijav Nagar, Delhi
(C) Tilak Nagar, Delhi (D) Noida

1602-B [13]
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56.

57.

58.

TR B T SISty i Ry 3w & @ & 2

(A) Ui (B) =M
© By e |
Which country shares long International Boundary with India ?
(A) Pakistan (B) China
(© Nepal (D) Bangladesh
....................................... T 3T HedS Tt & 2|
(A) T By T
© &= ©)
.................... is not a Tributary of Ganga.
(A)  Yamuna (B) Satlyj
© Kan D) Son
CRIETY BT o & —
(A) = B) =R
(© Wl D) A=l
Capital of Lakshadweep is -
(A) Daman AB) Blair
((%— Kavaratti (D) Aminidivi
- Gg/l. [T & o & —
(4) drEHg B) =
© ww D) i
Capital of VIETNAM is -
(A) Tashkent (B) Dushanbe

(© Damascus (D) Hanoi




English

(Q.No.61to 63) : Choose the most suitable option (modal) out of the choices given-

61. Walk carefully lest you ...........ccoseueeess fall.

By~ will (B) may

(08 should (D) shall
62. I....cccovnee.. play cricket in my childhood.

(A) must (B) might

(@ dare (D) wused to
63. He ...ocooeeresesneenenes g0 Whenever he wanted.

(A) should fEf/ will

(C) could (D) must

(Q. No. 64 to 65) : Choose the part of the given sentences in which there is an error.

(A)
No error
(D)

64 She is one of those persons/ who is never satisfied with / anything E}\e world/

65. Neither of the two boys / were successful / in the examination / No error

(A) (B) (=g (D)
(Q. No. 66 to 67) : Choose the correct form of voice.

66. The foolish remarks surprised me.
(A) Iam surprised at the foolish remarks

(B) Iwas surprised at the foolish remarks
(€) Ihave been surprised by foolish remarks
(D) Ihad been surprised at foolish remarks

67. Were you serving your parents ?
(A) Was your parents be served by you ?
(B) Were your parents be served by you ?
(€) Were your parents being served by you ?
(D) Your parents Were being served by you ?

1602-B [15] (P.T.O.



irmative Sentence :
(Q. No. 68) : Choose the correct Interrogative form of the given Affirmativ

o8 The princess will be sleeping on a soft silken bed.
(A) s the princess be sleeping on a soft silken bed ?
(B)  Shall the princess be sleeping on a soft silken bed ?
) Will the princess be sleeping on a soft silken bed ?
(D) Has the princess be sleeping on a soft silken bed ?

(Q. No. 69) : Choose the correct option from the following to change the sentence from

interrogative to negative sentence :

6% Will he have sold the old car ?
—A)  He will not have sold the old car.
(B) He does not have sold the old car.
(© He wouldn’t have sold the old car.
(D) He shall not have sold the old car.

(Q. Ne. 70 to 71) : Choose the correct option of indirect form of speech :

/0. “When does the school reopen for the next session ?” said Fatima
(A)  Fatima inquired when did the school reopened for the next session.
(B) Fatima inquired when the school reopened for the next session
(Q Fatima ‘Nquire when the school reopened for the next session
(D)  Fatima inquired when the school reopen for the next session
71.

He said, “ et Me have some water ”

A&) He Wished that he might have some water.
(B) He wisheq




: : for the
(Q. No.72to 74) : Choose the word that is the most appropriate substitute

phrases,/words.

79 Constant effort to achieve something.
(A) Patience (B) Vigour
(&y Enthusiasm (D) Perseverance

73. Study of mankind.
(A) Pathology (BY— Philosophy
(C) AﬂthTOPD]Dg}" 4 (D) Ph}rf_.‘.](ﬂgg}r

74. The act of looking back upon past events.

(A) Introspection (B) Retrospection
9/ Extrospection (D) Circumspection

(Q. No. 75 to 77) : Choose the correct option which fits in the given blanks of each
question.

75. When you telephoned me, We .......ccccouusmmsuereneees
(A) plav M) were playing

(C) are playing (D) played
76. Each of the boys did .........ccozvusevsscesciasess. WOTK.
(A)~ their (B) his
[€) her (D) them
77 [ could not come to college yesterday because I ..., not well.
(A) am (B) mayv
(& was (D) had

(Q. No. 78 to 79) : Choose the most appropriate preposition out of the choices given :

78. Ram killed the snake ...........ccccooinnenns a stick.
(A) bv (B) with
(& from (D) of
79. The Rajput soldiers never T M RO their arms
(A) wup (B) in
(C) down (D) away
1602-B [17]
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) ] 1d letters :
(Q. No. 80 to 81) : Pick the correct synonyms of the words printed in bo

80. ANXIETY :
(A) Accumulate @j/.concem
(© Destiny (D) Vanquish
81. ZEAL:
(A)  Fervour (B]” Reveal
(©) Dejected (D) Sturdy

(Q. No. 82 to 83) : Pick the correct antonyms of the words printed in bold letters :

82. EBB:
JK)/ shame (B) flow
(©) delay (D) vice
83. LEAD:
AA) - follow (B) lend

(©) delay (D) lose
(Q. No. 84 to 86) : Choose the correct sentence from the following -

84. Ar The Ganges is the holiest of all other rivers.
(B)  The Ganges is the holiest of all rivers.
(C©) The Ga nges is the most holiest of all other rivers.
(D)  Ganges is the holjest of all other rivers,

85. (A) Did he know to swim ?




(Q. No. 87 to 90) : Read the following passage carefully. The passage i -
some questions with four alternative answers. Mark the most suitable answ
answer sheet.

monies

| wish to declare with all earnestness that I do not wan ;
A submit

performed for me after my death. I do not believe in any such ceremonies and to
to them, even as a matter of form would be hypocrisy and
and others. g
when I die, I would like my body to be cremated. If I die in a foreign country, my body
should be cremated there and my ashes sent to Allahababd. A small hal}dful of these
ashes should be thrown into Ganga and major portion of them disposed of in the manner
indicated below. No part of these ashes should be Wwed-

My desire to have a handful of my ashes thrown into the Ganga at Allahabad haS no
religious significance, so far as I am concerned. 1 have no religious sentiments in the
matter. I have been attached to Ganga and the Jamuna rivers in Allahabad ever since my
childhood and as I have grown older this attachment has also grown. | have watched their
varying moods as the seasons changed and have often jl}crught of the history and myth

and tradition and song and story that have become sttached to them through the long
ages and become part of their flowing waters. '

| 87. Why does he want a handful of his ashes to be thrown into Ganga ?
AA) He wanted his ashes to be thrown into Ganga because of his religious
sentiments
x\_4B] He wanted it because of his attachment to Ganga
(C) He wanted it because of nation’s tradition and culture

(D) He wanted it to perform religious ceremony

88. What is to Nehru, the Ganga, a symbol of ?
(A) To Nehru the Ganga is a religious river
(B) Itis asymbol of India’s past
(Cy To Nehru the Ganga has been a symbol of India’s age long culture and
religion
(D) He likes the traditions, customs and religion of the past

(Q. No. 89to 90) : Find words in the passage which have the same meaning as the phrase

given below :
Pretending to be what one actually is not
(A) delude (B) submit
(©) hypocrisy (D) disposed -
90. Story that originates in ancient times
(A) significance (B) tradition
(C) desire (Dy— myth
kkkkkk

1
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Social Studies
1. %ﬁ%%aﬁﬁﬁmaﬁﬁvq(@a)aﬁmwﬁsﬁ%mﬁmﬁw.

TwEHR JRETE 1935
(A) IRG WeR I|EET 1919 (B) INT

e T ) gFIEeR 99 Tac
2 i InEﬂ(:T:I)OHEd a< a “charter of slavery’ by Jawahar Lal

Which of the following act was
Nehru?

(A} Government of India Act 1919 (B) Government of India Act, 1935
(@ Regulation Act (D) Vernacular Press Act

9 TENT ATIE OE e aa Se ?

A) ===z B

© B D) SEoTEd W
Kazirangz National Park is in -

(A} Meghalava (B) Assam
(O Tripur= (D) Arunachal Pradesh

3. TARc § FoUo 99 SdUicH Oed HIF Gl e ?

(A) == 53 By =5
Q == (D) wHics
The lzrgest tea producing state in India is -
A}  Himachal Pradesh (B) Assam
O Kemalz (D) Kamataka
TR TN SR IwR % S Sieiee S (O am 3 we o ?
A i (B) =%

AL S D) =

'a! ";_-i::"‘ ot ::-% -1-“ lﬂ‘
R _:‘}h: ngmtn started Operatmn Infinite Reach” in Sudan and

(B) Russia
(D) Iraq

(20] | TRy




9. BHGY W WY HI QAT AH AT 7

(A) T B) faER
(O SSrH (D) 3rEH
‘Kamarupa’ is the old name of -
(A) Bengal (B) Bihar
(©) Onmssa (D) Assam
97 gUETN WRA P WEY ol A4l oA 9l ' 7
(A) T By TerEd
© ¥EE< ' D) @
The longest river of Peninsular India is
(A) Narmada (B) Godavari
(©) Mahanadi (D) Kaverl
98. fivg =R wTeT @ WU fbu a¥ & ?
(A) 1995 S0 By 1996 S0
(C) 1997 20 (D) 1998 30
In which year did the ‘World Trade Organisation’ come into existence ?
(A) 1995 AD (B) 1996 AD
(C) 1997 AD (D) 1998 AD
99. FARW fag Raflercy @ w9l G Pl ?
(A)  HETAT TTE - 13)/ Ao Higd Aldd
1 RIGIRESS (D) ¥l dlcd 8%
Who founded the Banaras Hindu University (BHU) ?
(A) Mahatama Gandhi (B) Madan Mohan Malviya
(C) JawaharLal Nehru (D) Mot Lal Nehru

100. SrerETE SRIGT BRI ol gRE UIEEl UUe I-fiCY ve ¥ sfedr A ged
g areiaT @ % § 7
(a) fafew o & e aRemHl &
@) ffea w1 grfore IROmE! B
(o fafen o7 @ oHI® GRTET B
D) ¥ B diffe gRumAEl B
Which of the following is mainly critcised by Dada Bhai Naoroji in his book “Poverty
and Un British Rule in Indta”? -
(A) Economic effects of British rule
(B) Social effects of British Rule
(C) Political effects of British Rule
(D) Religious effects of British Rule

1602B [21] [P.T.O.
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101. RO TG A T = T B & 2

(A) 5900 f&h @) 7500 &4
Q@ 7600 f&i o) 7700 f&
The length of Indian Coastline is about -

(A) 5900 Km (B) 7500 Km
(O 7600 Km (D) 7700 Km

102 HuH & difte o @ Rigia o g amd 4 o= fear ?

T @) s T ame (B) IaF< ARG FHA
© Rt fiew wwer D) TESEE A
“’l'lichofthefollowingcaﬁeg.avebir&ttoﬂEcom:eptof”BasicstruCt!ﬂEdﬂE
Constitution” ?
(A) Golak Nath Case (B) Keshavanand Bharti Case
(O Minerva Mills Case @5 None of these

103. TH9 Riew 7 7 IFaeR T¢I =T A o5 ?

2 T TS o (B) T JHSH =

© % JFSied il (D) 7° vifds iz Hi

Which Sikh Guru laid the foundation of the city of Amritsar ?

(A) Guru Nanak ji B) GuruRamdas ji A

(O Guru Arjundev ji D) Guru Gobind singh ji
104 79T BT YIS J9T SUHa9Y foaT o= ?

@) g (B) ®d

© == D)

Which of the following made Goa her colony firstly ?

(A) Portuguese (B) French

(O Dutch (D) Britishers

(O om $=u D) w1 Ew
smu'ﬂ'(rﬁweroﬂﬁdm-y)atm“wb!_
(D) BappaRaval



106. e T f&<g wer @@l € 7

5 wRe & g FaR o

(B) TR IhHr B T P

© dvedH AR FeER @ SIS B

(D) =& ARa @ WHHaE AT @

‘Red Indians’ are

(A) Original inhabitants of America

(B) Tribal inhabitants of South Africa

(C) Tribal inhabitants of Andaman & Nicobar
(D) The ancient Tribal people of South India

107.%?%%Hﬁ%aﬁqﬁnwmﬁ%ﬂ%ﬁWHﬁ%?
F-_-;ﬂ-—
(A) wEgaTE B AR B) T fARue
© wgw s P fRE @y~ v
Which of the following is not a feature of Indian I!breign Policy ?
(A) Opposition to Imperialism  (B) Non-alignment

(C) Opposition to United Nations (D) Panchsheel

103.ﬁmﬁmﬁaaﬁm'aﬁwwﬁmﬁﬁeﬁ?

) TG (B) eI
© D D) YorE fad
Vikramshila University’ was founded by -
(A) Chandragupta Maurya (B) Dharampal
(C) Kanishka (D) Pulkeshin -1I
ﬁigeﬁm-amw-aaam%? -
AR) A ) s wRe
(€ THETe Hied (D) GeT
The birth place of Guru Gobind Singh ji is
(A) Amritsar (B) Anandpur Sahib
(C) Fatehgarh Sahib (D) Patna
_\llp{mr\?fsﬁeﬁaﬁﬁfﬁ g T2 BT Pl Wl § 7
@A) wEE B) @
ey TS D) Racorevs
Which country is known as “Land of Thousand Lakes” ?
(A) Japan (B) China
(C) Finland (D) Switzerland
1602-B 23]

[P.T.O.



131,

113

gaditer &1 fagia feaa fear ?

S G TR AT (B) FETeHI THEN

© e ey (D) I SN

Who gave the theory of Panchsheel /Concept of P anChShee? ;
(A) Pt. Jawahar Lal Nehru (B) Mahatma Gk
(C) Marshal Tito (D) Dr. Ambedkar
. QAE-U-grEr e g fbar ?

(A~ @R (B) ST

© iR (D) R

Who initiated ‘Din-e-Ilahi’ ?

(A) Akbar (B) Aurangzeb

(C) Jahangir (D) Babar

FfeRea @1 fiemsy —

(i) el i 1 g IWUeH

(i) & wIf 2.  H"dl IdEH

(ili) HPg wHIf - . T ST
(iv) dTell amrfa - 4 e Igres

(1) (i) (i)  (iv)

(A) 4 3 1 2

5] 2 3 1 1

(©) I 3 2 4

(D) 3 2 1 1

Match the foiluwing X

(i) Blue Revolution 1. Dairy Products

(u) Green Revolution ™ 2. Fisheries Development
((‘”) White Revolution 3. Food Production

V) Yellow Revolution ﬂﬂl. Silk Production
O @ @) G

T S N

3 1
2 W
R 2
2 1

[24]



114.q€m§aaﬁmﬁ§@mﬁmﬁmﬁmﬁ? |
(A) et gum B) TP wEH # faward
(@F fER iR 3meRv @ gedl (D) - wrrgare § faward
Budha's preachings were mainly regards to
(A) Idol worship (B) Belief in one God
(C) Purity of thoughts and Conduct (D) Belief in Fatalism

115. ‘A b <w & fare @ ?

(A) IR B) M3

(C) sTele By uiretos
‘Maoris’ are the inhabitants of -

(A) Nigeria (B) Egypt

(C) Brazil (D) New Zealand

116. ‘gRe™ T B weroeT e af g ?

& 190650 (B) 1909 %0
(@ 1911 (D) 191220
In which year was "‘Muslim League’ formed ?

(A) 1906 AD (B) 1909 AD
(©) 1911 AD (D) 1912 AD

117. ‘fdes w1 &1 wIo fod av gg ?

(A) 1945 =0 8] 1946 50
(C) 1947 %0 (D) 1948 S0
In which year was the ‘Constituent Assembly” established ?
(A) 1945AD (B) 1946 AD
(C) 1947 AD (D) 1948 AD
_mﬁﬁaﬂwﬁrﬁﬁﬁﬂmmﬁnmmnmw%?
(A) AR ST Wil (B) e ST i |
(C) dger |HS el D) W dYfRe ar
" Which Political Party is known as ‘Umbrella Organisation’ in Indian Politica] )
System ? ‘

(C) Bahujan Samaj Party (BSP) (D) ~ Communist Party of ingi, (cpry
.l r

1602- i 25]
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:fm@wmwmmme?
) aem ®
© W™ m
Where was the tourth Buddhist Council held ?
(A)  Samath (B) Gaya
L)  Prayag (D) Kashmir

10, & FE N I off ?

A T W (B) ISR IET
& REuTR ame (D) =1 |Eg
Hampi was the Capital of -
(A) Islam Empire (B) Nomadic Empire
oy \ijavanagar Empire (D) Roman Empire

<

RU/STT W T I T 9 ?

. Sl (B) RIS

Q = D) Tewa

Chaitanva Mahaprabhu was native of

A} Bengal (B) Maharashtra




124. T0 ST B Wb TS PH A B ?

(Ay~ TR @ |
© g T w8 P T
Which river is known as sorrow of West Bengal ?
(A) Damodar (B) Kosi
(O Hugli (D) None of these
125. et A P @ e Wra @ ARG oy § o ot @ 7
(A) et et (B) elevrRe fAee
© wra fAed D) Seie fed
Which type of soil is found on the largest part in India ?
(A) Black soil (B) Laterite soil
(©  Red soil (D) Alluvial soil
126. ¥ & | dI3 S dlell BEal DI a1 Ped & 7
& @ (B) B
© 35 D) T 9 BIg el
Crops sown during the winter are known as -
(A) Rabi (B)  Kharif
© Zaid (D) None of these
127. {59 9FR &1 I99 AESY &1 ged 74T S|l & 7
(A) DITT TR (B) difecd WK
AQf T WFR (D) o AR
Which sea is known as Heart of Roman Empire ?
(A) Caribbean Sea (B) Baltic Sea
(C) Mediterranean Sea (D) Red Sea
128. Ficrad S g dioil @ Afdd f6d <o &1 o ?
(A~ AT (B) HiH
(© seeft (D) TS
Columbus the famous Explorer and Navigator was native of -
(A) Germany (B) France
(©) Italy (D) Canada
129, eremdiT Fet Rerd & 7
A (B) SR U<
© e s
Where is Dholavira situated ?
(A) Rajasthan (B) Uttar Pradesh
(C) Gujarat (D) Punjab

2
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130. 1T BT HTEAT - 2

e Hig- ATAdd (B) -<@rl fdder<
(C) | 9T I 4By g 9B AR
Who called for a total revolution ? -
(A) Madan Mohan Malvia (B) Swami Vivekanand
(©) Baba Amte (D) Jai Prakash Narayan
131. ¥R dfees 5 diferd AWeR g wrr # siftd fby 70 & ?
(A) I (B) I
(£ IV D) V | ‘
In which part of the Indian Constitution have the fundamental rights been included?
(A) I (B) I
A= IV D) V
132. 3STH WA 379 & fbed 2t @ ?
NI ,(-B)f AT S el 3
(©) | drfeHse (D) MITHS
Ozone laver is present in which of the following ?
(A)  Troposphere {By=—Stratosphere
(©) Exosphere (D)  Ionosphere

133.Wrﬁzﬁﬁr‘mmqﬂ“fﬁrwﬁma@aﬁ$%qﬁm?
(A) G smagm ameres (B) 3rEEANT 3o

@ Wfb‘rsﬁaﬂ—?ﬁaq (D) Raampa am<ias

e’ was given by Mahatma Gandhi ?

Non-Cooperation Movement
(D)  Khilafat Movement

(A)  Civil disobedience Movement (B)
(©)  Quit India Movement

9599 w7 ?
.-"ﬁ' WEBT:FW

P ; | B) TP R %
%TW D) aﬁﬁaﬁﬁwyw

(A) N dme of g medicin
e
o e (B) A type of Grass

B (D) American buffalo
135. GﬁET\ElErrf ST STy L
o '.f' d %EEI
-;':5?3_-."—- fwg i{r ?;r W o b ool
. 8 sknown o
- 50ld Capity)
et or gy, %) Suncity of worlg
. (D) Sports city of world
[28]




(o BT @y Ugiferr

(C) (D) HDTH

What is known as ‘Black Gold" ?

(A) Coal (B) Petroleum

(C) Lead (D) Opium
137.@%@%%%#%@@@?@@@%/%%

oqr /et 7

(A) T SRR B) < AR

(o gl cRecy D) B gead

Who was the King/Queen of England when Capital of India shifted from Calcutta to

Delhi ?

(A) Queen Elizabeth (B) Queen Victoria

(C) George V (D) Prince Edward

138. %ot Tisia wemRl 5 el @1 Srsdr & 7

D) feeh, g, d1E, FRER

Which cities are linked by the Golden Quadrilateral Highway ?
(A) Delhi, Mumbai, Chandigarh, Bengaluru

(B) Jammu, Chandigarh, Gujrat, Ganganagar

(©) Delhi, Mumbai, Chennai, Kolkata

(D) Delhi, Mumbai, Chennai, Hyderabad

139.m?ﬁ$rw@fw(éaw)$amﬁmnﬁmaﬂ=rwé?

o e PER B) w°9 49 fyg

(© < d AR gdell (D) g

Which is the largest (Area wise) Union Territory of India ?

(A) Andaman & Nicobar (B) Daman & Diu

(C) Dadra & Nagar Haveli (D) Lakshadweep
140.mwﬁa?f:lﬁra‘c."rfhvc‘i’(%?

(4) T (B) wEHIA

(C) PO P

Which river flows into the Arabian sea ? st

(A) Godavari (B) Brahmaputra

(C) Krishna (D) Narmada
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141, wa@ wyer sgg o o # 7

(A) 7 (B) gerd gl
ey ferm D)  AEH
Which is the smallest continent ? '
(A)  Europe (B) North America
(€)  Australia (D)  Africa

142, U1 &1 &er fven e asvarm ?

(A) 48T Mg S B e
(SECICE (D) HFaz
Who built the Red Fort of Agra?

(A) BahadELSMafar {B) Shahjahan
(€)  Babar (D)  Akbar

143. et &1 waw wewr wpr @ @y &

(A)  afarr ard (B) #y
(C) Awre (D) ez
Which is the deepest place of Earth ?

M Mariana Trench (B) Magma
(C)  Baikal (D) Crater

144. sedifes qeramrm fbg sew 3 HIHR & 2 ?

(A) & (B) u©#
(©) uw D)
What is the shape of Atlantic Ocean ?

(A) T ¢ ) V5

G D) C

'4%-‘ﬁﬁmmﬂ'wrmsmm‘nr$amﬁ anﬂi"\/
AR]  uh g -

o1 wrenfire
(©) Braen gam D). z=ars
e WhICh__'“d“*"tr}’ s known as ‘Sunrise Industry’ ?
B (A) Cotton Ing ustry

o (B) Information Technology
s ustry of Coga| D
T o ) Insurance

[30]



146. 98 IRA & TWAGR B o ?

() fwpEs M&aﬁ

©) domE (D) e¥aeH
- Who was the author of Buddha Charita ?
(A) Vishnu Dutta (B) Ashvaghosh
(C) Bana Bhatt (D) Harshvardhan
147. HAYRS ug JT & —
(A) TRASg BT (B) @l I
AF I ST B (D) SR BT
Kuchipudi is the famous dance of -
(A) Tamil Nadu (B) Kerala
(C) Andhra Pradesh (D) Odisha

148. T® ATHd <d Ol & IANIEGNT B A ?

(A) T T <T@ (B) T® M TN
@ TO T T (D) T 3R <q
Who was the immediate successor of Guru Nanak Dev ?
(A) Guru Arjun Dev (B) Guru Ram Das
(©) Guru Angad Dev (D) Guru Amar Das

7 [149 A SeR A | Wi # Sg9d @ AT fhar o ?

(A) »a (B) HA
(€ <A (D) e
In which language did Martin Luther translate the Bible ?
(A) French (B) German
(C) Russian (D) Spanish
150. ¥forar geara feeelt @t wf¥er oa &= ? /
(Y 1235 & —> @ 123
O 1237 (D) 1238
In which year did Razia Sultan become ruler of Delhi ?
(A) 1235 (B) 1236
)+ 1237 (D) 1238
i 336 36 6 3 3¢
~ 1602-B
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